ESTIN	MATE SHEET							
Compa	any Name:	Crecentia Labs Pvt Ltd	Approved b	ov:	Subba Re			
Project	t:	GV ONE	Sign:		Buoba ribady			
Work	Description:	East Side compound wall plastering and south block pcc	Work start	Work start date: 29-12-2022		22		
Contra	nctor:	Nille Krishna	Work end d	late:	25-01-202	25-01-2023		
Prepar	ed By:	Md Mursalim Ansari	Date :		01-02-202	23		
2.11								
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item head total	
1	East Side	Hacking	756	sft	1	756		
	Compound wall	One coat plastering	756	sft	16	12,096		
		raft 6	544	sft	6	3,266		
		F1	62	sft	6	372		
2	South Block PCC	CF1	326	sft	6	1,956		
_		F5	362	sft	6	2,170		
		Retaining wall footing PCC Grid F/6' to D/8 323		sft	6	1,940		
				Total	Amount	22,556		

MEA	SUREMENT SHEET	Γ							
Соттрату Name:		Crecentia Labs Pvt Ltd			Approved by:		Subba Reddy		
Project:		GV ONE			Sign:				
Work Description:		East Side compound wall plastering and south block pcc			Work start date:		29-12-2022		
Contractor:		Nille Krishna			Work end date:		25-01-2023		
Prepared By:		Md Mursalim Ansari			Date :	01-02-2023			
			A	В	С	D	E=AxBxCxD	F	G=Sum of E
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
	East Side	Hacking	54	1	1 7		756		
1	Compound wall	One coat plastering	54	1	7	2	756		
		raft 6	41.492	13.12	1	1	544		
	South Block PCC	F1	7.872	7.872	1	1	62		
_		CF1	23.944	13.612	1	1	326		
2		F5	13.448	13.448	1	. 2	362		
		Retaining wall footing PCC Grid F/6' to D/8	37.9168	8.528	1 1		323		
					Total		2,056	5	

#### **Allowance for Consumables**

#### Nelli krishna 9-160-9-11 bhalaji nager Andhra pardesh

Date: 01,02,2023.

In favor of:

Crescentia Labs Pvt Ltd.

Project / Site:

**GV ONE** 

Location:

Genome Valley, Turkapally

Type of Work:

East Side compound wall plastering and south block pcc

**Towards:** 

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards East Side	
	compound wall plastering and south block pcc works at	Rs: 4,511/-
	site.	
	Total Amount = Rs: 22,556/-	
	Work done from date 29.12.2022 to date 25.01.2023.	

Amount in words: Four thousand five hundred eleven Rupees only.

## **Bill for Equipment Allowance**

#### Nelli krishna 9-160-9-11 bhalaji nager Andhra pardesh

Date: 01.02.2023.

In favor of:

Crescentia Labs Pvt Ltd.

Project / Site:

**GV ONE** 

Location:

Genome Valley, Turkapally

Type of Work:

East Side compound wall plastering and south block pcc

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Towards East Side	
	compound wall plastering and south block pcc works at	Rs: 9,022/-
	site.	
	Total Amount = Rs: 22,556/-	
	Work done from date 29.12.2022 to date 25.01.2023.	

Amount in words: Nine thousand twenty two Rupees only.

## Bill for Labour Charges

#### Nelli krishna 9-160-9-11 bhalaji nager Andhra pardesh

Date: 01.02.2023.

In favor of:

Crescentia Labs Pvt Ltd.

Project / Site:

**GV ONE** 

Location:

Genome Valley, Turkapally

Type of Work:

East Side compound wall plastering and south block pcc

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards East Side	
	compound wall plastering and south block pcc works at	Rs: 9,022/-
	site.	i'
	Total Amount = Rs: 22,556/-	
	Work done from date 29.12.2022 to date 25.01.2023.	

Amount in words: Nine thousand twenty two Rupees only.

# Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – sit	e bills register	40			Date Regis	- site bill	S	02-	02-23
Company N	ame:	cyescentia Lab			Site:			(MY ONE	
Name of Co		Nille kvishna							
Nature of w	ork					וומנו	nlacte	una ana	I outh block
Work done		From	Date	129-	12 - 2	023 To	Date	25-	1 outh block: 01 - 2023
No.	Flat/block no.		ty.	Rate		Units	Amou	nt	Contractors bill no
	Eastside Hacking		756	1		SFF	7.	56	
2.	one coati	olasky .	756	16		Stl-	12096		
	Patt		544	6		SFF		266	
4.	FI		62	6		Sft		72	
5.	CFI		326	6		Sft		156	
6.	FI		362	6		SFL		70	
7. R	wforting		323	6		Sft	19	40	
8.									
9.									
10.	77	\					0.2	556	
11.		otal:	- FNO		CCT	bill requi		A YES	I NO
Bill require			п NO.					₩ Enclos	
Measureme estimate sh		∐ Requ ☐ Not	iired required		estim	Measurement & ∠Enclosed estimate sheet: □ Not enclosed PO/WO date:			
PO/WO no.					PO/V	VO date:			
Remarks:									
							122		
Approved by	Project Mana	ger	Appro	ved by	Design	n Team	App	roved by	M.D.
Date: 02	Date:				Date:				
Sign:	02/207		Sign:				Sign		ving labour bills, b

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

0 2 FEB 2023

S. V. Subba Reddy Project Manager